ALEKS"® Systems and Rational Equations Quiz #1

Beginning and Intermediate Algebra Combined / MATH 101 - Fall 2014 — 504 (Prof. Miller)

Student Name/ID:

Instructor Note:

Directions: Every problem is worth two points. One point is for trying the problem and showing your work and
one point is for getting the correct answer. There are an additional five points for demonstrating the study
strategy that is posted on the board and talked about at the beginning of class.

1. Solve the following system of equations.

fx— 72y =-—5
dx— 5oy =-08

2. Two systems of equations are given below.
For each system, choose the best description of its solution.
If applicable, give the solution.

= The system has no solution
X+5y =5 ' The system has a unique solution:

TRTEYES (x¥)= (0.0)

" The system has infinitely many solutions.
They must satisfy the following equation:

v=1

= The system has no solution

Xt3¥ =3 € The system has a unigue solution:

TXTEY =SS (x¥)= (0.0)

£~ The system has infinitely mamy solutions.
They must satisfy the following equation:

v=1

ALEKS Systems and Rational Equations Quiz #1 - 09/05/2014 6:49:58 PM MDT - Copyright © 2014 UC Regents and ALEKS Corporation.

P.1/16



3. Use substitution to solve the system.

y = 3x—4
dx+3y = 27

x =]
y =

4. The Nguyen family and the Green family each used their sprinklers last summer. The water output rate for
the Nguyen family's sprinkler was 41 L. per hour. The water output rate for the Green family's sprinkler

was 22 L per hour. The families used their sprinklers for a combined total of 32 hours, resulting in a total
water output of 18235 L. How long was each sprinkler used?

Nguyen family's sprinkler:
Green family's sprinkler:

5. Solve the following system of equations.

dx—oy=-—1
—/x—2y =16
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" For each system of linear equations shown below, classify the system as "consistent dependent,”
"consistent independent,” or "inconsistent." Then, answer the question about its solutions.

-1
L1: y=—x—1
=5
L2: =_—x—2
75
Y
4__
2__
I2
l L L L l l I.r
€ A | |z 4 | 8
A—XR
I .
_S——

This system of equations is:
- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unigque solution:

Solution: ( , ) - no solution - infinitely many solutions

L1: y=x+7~
L2: y=—x+4

Lz

This system of equations is:
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- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:

Solution: ( , - no solution - infinitely many solutions
L1: y=—3x—3
L2: 3x+y=—3
Y T
F¥) |
4__
2__
1 | 1 1 | | | X
£ -4 2 4 g

4\
[ E2

-1

This system of equations is:
- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:

Solution: ( , ) - no solution - infinitely many solutions
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7. Two systems of equations are given below.
For each system, choose the best description of its solution.
If applicable, give the solution.

" The system has no solution
-X-3¥ =686 ¢ The syster has a unigue solution:

Xray=e (x¥)= (0.0)

£~ The system has infinitely mamy solutions.
They must satisfy the following equation:

v=1

= The system has no solution
XK+3¥ =9 " The system has a unique solution:

TRTIy = (x¥)= (0.0)

= The systam has infinitely many solutions.
They must satisfy the following equation:

v=1

¥

5T Option A
7o+
At /
Al
saT Option B
50+
Cost 45+
{in dollars ] 40t
At
a0
5t
0t
154
104
5T x
| | | | | | |
o 30 80 a0 120 1s0  1s0 210

Miles driven

the other option?

amount, which option costs less?

8. Pablo will rent a car for a day. The rental company offers two pricing options: Option A and Option B. For
each pricing option, cost (in dollars) depends on miles driven, as shown below.

a. If Pablo drives the rental car /> miles, which option costs more? How much more does it cost than

b. For what number of miles driven do the two options cost the same? If Pablo drives less than this
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9. Graph the system below and write its solution.

dx+y=-6
1 +1

= —X

Y73

Note that you can also answer "No solution" or "Infinitely many" solutions.

¥

-4

10. Use substitution to solve the system.

ax+4y = o
x = 3y—18
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11. Solve for ¥

b
Z =5
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12

" For each system of linear equations shown below, classify the system as "consistent dependent,”
"consistent independent,” or "inconsistent." Then, answer the question about its solutions.

L1: y=x+3
L2: y=—x+3
¥
5__
L2 | L1

This system of equations is:
- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:

Solution: ( ’ ) - no solution - infinitely many solutions
5]
L1: y=—x+3
Z
L2 > 3
S Y=—Xx—
Y Z
N
i1

This system of equations is:
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- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:
Solution: ( .

- no solution - infinitely many solutions
L1: y=2x—2¢

L2: —2x+y=—"2
¥y

5__

o
im0

This system of equations is:
- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:

Solution: ( , ) - no solution - infinitely many solutions
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13. Graph the system below and write its solution.

1
=——x+1
YT

—3x+v=-6

Note that you can also answer "No solution" or "Infinitely many" solutions.

¥

14. The sum of two numbers is 42 One number is Z times as large as the other. What are the numbers?

15. Solve for m
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Systems and Rational Equations Quiz #1 Answers for class Beginning and
Intermediate Algebra Combined / MATH 101 - Fall 2014 — 504

.x = -1
2. & The systern has ho solution
X+E5Y =5 ¢ The system has a unique solution:
-X—-5y =5
(wyl= @00
¢ The systern has infiniteky rmany solutions
They must satisfy the following eguation
y= [
& The system has no solution.
X+ 3y =3  The systern has a unigue solution:
-X—-3)y =-3
(wyl= @0
% The systermn has infinitely many solutions
They must satisfy the following equation
ki
y= -—+1
3
3. x = 3

4. Nguyen family's sprinkler: 30 hours
Green family's sprinkler: 22 hours
S x = —2
y = —1
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L1

This system of equations is:
- inconsistent
This means the system has:

- no solution

L1: y=x+"~
L2: y=—x1+4

Lz

This system of equations is:
- consistent independent
This means the system has:

- a unigque solution:
Solution: ( 1, 3 )
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L1: y=—3x—3
L2: 3x+y=—3

o
1|

4__

2__

L2
-5+

This system of equations is:
- consistent dependent
This means the system has:

- infinitely many solutions

7. f* The systemn has no solution.
-X-3¥ =65 " The system has a unique solution:
X+3y =6
(zy)= (0.0

= The system has infinitely many solutions
They must satisfy the following equation

v=1

= The systern has ho solutioh

X+3y =9 0 The systerm has a unigue solution:
-X—3)y =-9
(wyl= @00
& The system has infinitely many salutions

They must satisfy the following eguation

X
y= -—+3
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(a)lf Pablo drives the rental car 72 miles, which option costs more?

Option B

How much more does it cost than the other option?
Flo

(b)For what number of miles driven do the two options cost the same?
1a0

If Pablo drives less than this amount, which option costs less?
Option A

Solution: (—2, CI)
10. » = —3

Y =02
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12. L1: y=x+3
L2: y=—x+3

L2

This system of equations is:
- consistent independent
This means the system has:

- a unique solution:
Solution: (D, 3)

B
L1: y:E x+3
3
L2: y_Ex—S
5'};

This system of equations is:
- inconsistent
This means the system has:

- no solution
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o
im0

This system of equations is:
- consistent dependent
This means the system has:

- infinitely many solutions

13.] . 4

Solution: (2, D)
14. | arger number: 28

Smaller number: 14

15. F
m=—
a
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